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Moltiplicazioni (verticali) Nome:
Risolvi ogni operazione. Risposte
1) 489 2) 194 3) 267 4) 306
x 35 x 59 x 68 x 32 L
2.
3.
4.
5) 276 6) 643 7) 895 8) 685
X 87 X 32 X 41 X 98 >
6.
7.
8.
9) 925 10 762 11 333 1 795
X 82 X 26 x 40 X 58 9.
10.
11.
12
13) 512 14) 185 15) 911 16) 409
X 51 X 27 x 33 X 81 13.
14,
15.
16.
17) 181 18) 151 19) 467 20) 258
X 99 X 32 x 24 X 65 17.
18.
19,
20.
: 1-10 | 95]90[85] 80 75] 70[ 65 60 55 50
MatematiCall = - oreshessit 11-20[45] 40 35(30] 5] 20[ 15[ 10 5 | 0
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Moltiplicazioni (verticali)

Nome. Soluzioni

Risolvi ogni operazione. Risposte
1) 489 194 267 306
X 35 x 59 x 68 x 32 17115
2.445 1.746 2.136 612 ) 11.446
+14.670 +9.700 +16.020 +9.180
17.115 11.446 18.156 9.792 3 18.156
4 9.792
5) 276 643 895 685
x 87 x 32 x a1 x 98 |5 24012
1.932 1.286 895 5.480 . 20.576
+22.080 +19.290 +35.800 +61.650
24.012 20.576 36.695 67.130 7 36.695
8 67.130
9) 925 10) 762 333 795
x 82 X 26 X 40 X 58 0. 75.850
1.850 4.572 0 6.360 o 19.812
+74.000 +15.240 +13.320 +39.750
75.850 19.812 13.320 46.110 1. 13.320
1o 46.110
13) 512 14) 185 911 409
X 51 X 27 X 33 X 81 13. 26.112
512 1.295 2.733 409 " 4.995
+25.600 + 3.700 +27.330 +32.720
26.112 4.995 30.063 33.129 5. 30.063
6. 33.129
17) 181 18) 151 467 258
X 99 X 32 X 24 X 65 17. 17.919
1.629 302 1.868 1.290
18, 4.832
+16.290 +4.530 +9.340 + 15.480
17.919 4.832 11.208 16.770 0. 11.208
o0, 16.770
: 1-10 [95[ 90 75[70]65[60]55] 50
MatematiCall = - oreshessit 11-20[45] 40 25| 20[15]10] 5
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Moltiplicazioni (verticali) Nome:
Risolvi ogni operazione. Risposte
N
20.576 19.812 9.792 13.320
1.
36.695 46.110 67.130 17.115
11.446 24.012 75.850 18156 &
3
1) 489 2) 194 3) 267 4) 306
X 35 X 59 X 68 X 32 4.
5.
6.
7.
8.
5) 276 6) 643 7) 895 8) 685 0.
X 87 X 32 X 41 X 98
10.
11.
12.
9 925 10) 762 11) 333 12) 795
X 82 X 26 X 40 X 58
. ifi 1-10 | 92| 83| 75|67 |58 | 50| 42| 33| 25| 17|
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